Z
M
E4
Y
}
i
ES

—H2—0c -N

110

Z_JQ”\]T By hUaLYk Z-JOINT

RoHS
¥
i Corresponding to the
Il 1EEHhE R W EEREME R Regultons
Internal Structure Main Part Materials
(s)y(a)(s)(2)(1 e L7)=1
Q o Part Name Material
PBT(V-0)
® Tv2aUvd | BEAMERRE (UL-945R48V-01E=)
Push Ring Flame-retardant resin
5 (equivalent to UL94 V-0 standard)
C3604BD
7 ® 75—V | I RZD LR (75ppmBLT)
Outer Ring Cadmium regulation materials
A (cadmium content of 75 ppm or less)
Frv
® Chuck SUS301
mILT— HHRES (PEI)
Holder Resin (PEI)
ASE
Packing NBR
FE&® C3604BD
B R=D LEFHF (75ppmIUT)
Cadmium regulation materials
[ | 4#5 ® PN (cadmium content of 75 ppm or less)
Features Body g% PBT(V-0)
@ TEFREQI VY v FilF BepATERIRE (UL-O4/RH8V-O4E)
B F1—TEEUVADRIFITRAET . Al CEUC T
N s N . _ e alent to UL94 V-0 standard
Ty U IERUBHSEECTF 1— I BRI TR — (equiv )
BALDTEET, @| Sar’ | NBR
Instant fitting eliminates need for tools
Easy connection by only inserting the tube lightly. X 03§94BD
Can be disconnected easily by pulling out the tube while pushing the A=Y T | A R0 LR (75ppmELT)
releasing sleeve with another hand. Insert Nipple | Cadmium regulation materials
(cadmium content of 75 ppm or less)

@ FBEANR—ZZEKIBICH
Fa1—TRBEROIEEREAR—ADFRE N KR UEZEEE D
BECTIHS.EEAOZBEHRICER DT EHTRETIRVGFICD
EEEEDEZCI.

Great reduction of plumbing space

Tool working space for putting on or taking off the tube is unnecessary.
Stucture to be able to turn the screw of main body makes it possible to
change a plumbing direction freely.

Hence the plumbing work at small place is easy.

@ HEHRMHIEZIRA
HHREERIC (X HeiA A = (2 A (UL94RAEV-04E=)

Utilizing the white flame-retardant resin
The resin part is made of flame-retardant material
(equivalent to UL94 VO standard)

@ EIEER@mIE N R U LK (SHE75ppml ) ZER
RoHSxditar (200757 BIRTE)
The brass part is made of the cadmium regulation materials

(cadmium content of 75 ppm or less)
(Corresponding to the RoHS Regulations/As of July, 2007)

@ SHIEEEER _—_v IV X v FZEA
B FEEE =y )L X v FUIB(C KD SRR EMEREH [ L LT
WET,

Adopting electroless nickel plating to the brass part
Electroless nickel plating processing improves the beautiful appearance and
the corrosion resistance of the brass part.

@ RUEICTTOVEEZI—FT« VT
V=)UF =T I—VATEDR (EEEE EETHDKIEIERES N,
UDBAEERDNSYF(BELS)ICKDRNDDEDBD T,
itz i - iR ICEBNTLE T,
Fluoric resin-coated screw
No need to use the seal tapes or the seal materials. It makes the working
hour and the work man-hour greatly shortened. Also there is no worry of
leakage caused by scroll irregularity. Excellent in water and oil resistance
performance.

B ERFa1—7
Applicable Tube

>F4O0VFa—7J

Nylon Tubes F-1500.AX-1200

oLyYFa—J

Polyurethane Tubes U-9200.U-9500.ARU

ITOJUYORFa—T

eco-flex tubes ecos.ecoh.ecoh(wr)

BT 21— SR

Flame-Retardant Tubes

W %
Specifications
. ZERIKEGEHEHD) %
BRI X0 7
: Air, Water (Please consult us about
AT the condition to use)
ﬁﬂ{fﬂressure O~ 1MPa(10kgf/cm?)
ar _
Negative pressure 10Torr(-100kPa)
2SR 1 -15~B60TC (RfGFET &)
{ERE Air 1 -15~60°C (Not to be frozen)

Working temperature | 7K 1 5~40TC

Water : 5~40C

XEEIF B T THBRGE < ZE L,
Please inquire of us details.



B RBRTAE

How to Designate

Z H-04

\ Al

Z-JOINTY U—X55
Z-JOINT Series Name

| DVHYFHE Z-JOINT |

wiEnl

Part No. of Standard Type

BRAF 1—INE
Applicable Tube O.D.

JAC Bl Male Connector
]y, vom Renb, %4 Male Elbow

45° T)UiR 45° Male Elbow
mOTILRIZF>Y Union Elbow
YEBIO—HY Y Type Connector
(03} B 0V C Type Connector
DEII=FY D Type Connector
TRIOZ—HY T Type Union
AL—baZFY Equal Union

IOy RIZAY Bulkhead Union
JNILIANY RDAZA (M) Bulkhead Union (M)
REEXRI=AY Bulkhead Union
ARAZHY Female Connector
20— I )Lk Two Port Turn Elbow
FhSaAZHY Tetra Connector
FY®aZ=7%> FY Type Connector
ZEYRO AV Double Y Type Connector
J0R1=FY Cross Union
Lya—b— Reducer

FrvT Cap

J0Ow o3 =k—IL R(¥>2F)b) Block Manifolds (Single)
JOvIIZik—ILR Block Manifolds
BR-B2RTIS0
IJS5007359

Reducing Connector Plug
Blank Plug

N ERF 1—THREEFRRUICHITDHAEMER

Connecting Screw and Out Diameter of Applicable Tubes

@ 2TORB/NNUI—r3vEHb
Product Variation exists for all.

A —BORBNUI—a VgL
Product Variation exists only partially.

o4 [ J
96 [ J
08 -
¢10 - A
p12 - - ([
16 - - - A A

¥ 16mmIF/N—T1=A Y TIVRAZA Y @OTIVRIZA Y TRIAZF V. NLIANY RIZF Y DH
@ 16mm for Male Connector, Male Elbow, Union Elbow, T Type Union and Bulkhead Union only.

> o e e

> o e e
o0 e

R_UYAX
Screw Size
. WU
¢6 No Set Screw
8

2 M5X0.8
®»10
012 R,Rc(PT)1/8
16 R,Rc(PT)1/4

R,Rc(PT)3/8
o4, o4

R,Rc(PT)1/2
o4. @6
o4. @8
06. 04 ZODBEHEDE

- Part No. of Other Type
»6. @6
06. 08 J\—27 =%/ (#,) Male Connector
?6. 010 OvJ Ik Long Male Elbow
8. 06 F—2TIUik Turn Elbow
08. 08 R(PT) With R(PT)
?8. 910 755 Plug
8. o912 BRISY Connector Plug
?10. 06 JS5007359 Blank Plug
»10. 08
®10. ¢10
$10. @912
p12. 912
W ST NIV

Recommended Tightening Torque

M5 0.5~1.0
R1/8 7~9
R1/4 12~14
R3/8 22~24
R1/2 28~30

¢ _FEEBUBIFEFR UHJIS BO203EAT—/1aU (C3604BDH) TOHIE,
Above values are for taper female screws for JIS B0203 tube (C3604BD make)

111



| DUSYFHE Z-JOINT | N\—T31=FVzH- \—TA=F V() ZH-S

(unit : mm)
— ~
IN—DJ1=F> wx |ERF1-TNE0| BEAU Bl | HE
Male Connector Applicable Tube |Connecting Screw | HEX K L A B Minim_um (g)
ZH Model No. O.D. R (PT),M Opening | Mass
ZH-045M M5X0.8 10 1 | 215 | 4 16 25 6
ZH-041 4 1/8 10 11 20.5 8 16 2.5 8 [AL40HH-41
ZH-042 1/4 14 | 155 | 195 | 11 16 25 15  EAL40HH-42
ZH-065M M5X0.8 12 | 135 | 23 4 | 175 25 9
ZH-061 1/8 12 | 135 | 23 8 | 175 4 11 EAL40HH-61
6
ZH-062 1/4 14 | 155 | 235 | 11 17.5 4 18 EAL40HH-62
ZH-063 3/8 17 19 | 215 | 12 | 175 4 26 [FA140HH-63
ZH-081 1/8 14 | 155 | 28 8 19 5 18
ZH-082 8 1/4 14 | 155 | 27 11 19 6 17  HAL4OHH-82
ZH-083 3/8 17 19 22.5 12 19 6 24 [EA140HH-83
ZH-101 1/8 17 19 31 8 | 215 5 26
MS 44T ZH-102 1/4 17 19 | 325 | 11 | 215 8 22 EAL40HH-102
M5 Type 10
ZH-103 3/8 17 19 | 285 | 12 | 215 8 26 EA140HH-103
APT) ZH-104 1/2 22 | 24 | 265 | 15 | 215 8 49 EA140HH-104
ZH-122 1/4 19 | 215 | 355 | 11 23 8 37 EAL40HH-122
ZH-123 12 3/8 19 | 215 | 305 | 12 23 10 32 EAL40HH-123
ZH-124 12 22 24 | 295 | 15 23 10 51 EAL4OHH-124
ZH-163 3/8 24 | 265 | 42 12 28 12 60
16
L
- - ZH-164 1/2 24 | 265 | 375 | 15 28 13 66
(unit : mm)
— ~
IN=D1=F> () pg | SRFI-TNE0 | EEGU SIVVE HEX | EE
Male Connector Applicable Tube |Connecting Screw | K L A B Minimum (g)
ZH S flocclich 0.D. R (PT),M Opening HEX Mass
ZH-045MS M5 X 0.8 98 | 215 | 4 16 2 6
4
ZH-041S 1/8 98 | 205 | 8 16 25 8
ZH-065MS M5 X 0.8 118 | 23 4 | 175 2 7
ZH-061S 6 1/8 118 | 23 8 | 175 4 9
7] ZH-062S 1/4 138 | 23 11 | 175 4 15
Y
o ZH-081S 1/8 14 | 28 | 8 | 19 5 15
}
g ZH-082S 8 1/4 14 27 11 19 6 15
ZH-083S 3/8 17 | 225 | 12 19 6 21
ZH-101S 1/8 175 | 305 | 8 | 215 5 26
ZH-102S 1/4 175 | 285 | 11 | 215 6 21
z 10
J ZH-103S 3/8 175 | 285 | 12 | 215 8 27
0
,{I L ZH-104S 1/2 22 [ 265 | 15 | 215 8 46
T _
M5447 M5Type ZH-1228 1/4 195 | 34 11 23 6 33
B
- RET v ZH-1238 12 3/8 195 | 205 | 12 | 23 8 28
N\, =
AN ‘ ZH-1248 1/2 22 | 285 | 15 23 8 47
1 4_41 A |1
L,ﬁﬁ_ﬁ___ -
\—-“i
A
L

112


0807
テキスト ボックス
EA140HH-41



0807
テキスト ボックス
EA140HH-42



0807
テキスト ボックス
EA140HH-61



0807
テキスト ボックス
EA140HH-62



0807
テキスト ボックス
EA140HH-63



0807
テキスト ボックス
EA140HH-82



0807
テキスト ボックス
EA140HH-83



0807
テキスト ボックス
EA140HH-102



0807
テキスト ボックス
EA140HH-103



0807
テキスト ボックス
EA140HH-104



0807
テキスト ボックス
EA140HH-122



0807
テキスト ボックス
EA140HH-123



0807
テキスト ボックス
EA140HH-124




TILIRA=F>

Male Elbow
ZL

TIViRA=A> ZL - QI IIbiRA=F ZL-L

| DVHYTFHF Z-JOINT |

ac

M54547
M5 Type

OYJIIVIRI=HF>
Long Male Elbow

ZL-L

[]o]

L1

R (PT)

(unit : mm)
R BREF1-JNZE0 EHRRL IR | B8
Model No. Applicable Tube |Connecting Screw | HEX | L1 L2 A B C | Minimum | (g)
. 0.D. R (PT),M Opening | Mass
ZL-045M M5X 0.8 8 15 | 18 | 4 16 | 10 2.5 5
ZL-041 4 1/8 10 [205(185| 8 16 | 10 3 8 |EA140H-41
ZL-042 1/4 14 | 24 [185| 11 | 16 | 10 3 15  |EA140H-42
ZL-065M M5X0.8 10 | 15 | 20 | 4 |175|125 25 7
ZL-061 1/8 12 | 24 | 21 8 |[17.5| 125 4 13 |EA140H-61
6
ZL-062 1/4 14 [275] 21 | 11 |175| 125 4 18 |EA140H-62
ZL-063 3/8 17 | 29 | 21 | 12 |175| 125 4 26 |EA140H-63
ZL-081 1/8 14 255|235 8 19 | 145 6 17
ZL-082 8 1/4 14 [285(235| 11 | 19 | 145 6 20 |EA140H-82
ZL-083 3/8 17 | 30 [235| 12 | 19 | 145 6 28 |EA140H-83
ZL-101 1/8 17 | 28 | 27 | 8 |215|175 6.5 26
ZL-102 1/4 17 | 31 | 27 | 11 |215|175 8 28 EA140H-102
10
ZL-103 3/8 17 [325] 27 | 12 |215|175 8 33 [EA104H-103
ZL-104 1/2 22 [355| 27 | 15 | 215|175 8 49 [EA140H-104
ZL-122 1/4 19 | 33 [295| 11 | 23 | 20 8.5 37 [EA140H-122
ZL-123 12 3/8 19 [345(295| 12 | 23 | 20 9 43 |[EA140H-123
ZL-124 1/2 22 |375(295| 15 | 23 | 20 9 56 EA140H-124
ZL-163 3/8 22 | 41 |355| 12 | 28 | 265 12 63
16
ZL-164 1/2 22 | 44 |355| 15 | 28 | 265 12 76
(unit : mm)
RUZE BEF1-—TNE EHRRU RIVUR | B2
Model No Applicable Tube |Connecting Screw | HEX | L1 L2 A B C | Minimum | (g)
: 0O.D. R (PT) Opening | Mass
ZL-041L 1/8 10 | 355(185| 8 16 | 10 3 15 EA140HC-41
4
ZL-042L 1/4 14 | 39 [185| 11 | 16 | 10 3 24
ZL-061L 1/8 12 | 40 | 21 8 |[17.5]| 125 4 26
6
ZL-062L 1/4 14 (435 21 | 11 |175| 125 4 34 [EA140HC-62
ZL-081L 1/8 14 |445|235| 8 19 | 145 6 39
ZL-082L 8 1/4 14 [475(235| 11 | 19 | 145 6 39 [EA140HC-82
ZL-083L 3/8 17 | 49 [235| 12 | 19 | 145 6 56
ZL-102L 1/4 17 | 56 | 27 | 11 |215|175 8 69 EA140HC-102
ZL-103L 10 3/8 17 |575| 27 | 12 | 215|175 8 70 EA140HC-103
ZL-104L 1/2 22 |605| 27 | 15 | 215|175 8 109
ZL-122L 1/4 19 | 60 [295| 11 | 23 | 20 8.5 94
ZL-123L 12 3/8 19 [61.5(295| 12 | 23 | 20 9 95 EA140HC-123
ZL-124L 1/2 22 |645(295| 15 | 23 | 20 9 122

113


0807
テキスト ボックス
EA140H-41



0807
テキスト ボックス
EA140HC-41



0807
テキスト ボックス
EA140H-42



0807
テキスト ボックス
EA140H-61



0807
テキスト ボックス
EA140H-62



0807
テキスト ボックス
EA140HC-62



0807
テキスト ボックス
EA140H-63



0807
テキスト ボックス
EA140H-82



0807
テキスト ボックス
EA140HC-82



0807
テキスト ボックス
EA140H-83



0807
テキスト ボックス
EA140H-102



0807
テキスト ボックス
EA140HC-102



0807
テキスト ボックス
EA104H-103



0807
テキスト ボックス
EA140HC-103



0807
テキスト ボックス
EA140H-104



0807
テキスト ボックス
EA140H-122



0807
テキスト ボックス
EA140H-123



0807
テキスト ボックス
EA140HC-123



0807
テキスト ボックス
EA140H-124




9
M
4
F
F
ES

—HZ2—0c -N

114

| DUHYTFHE Z-JOINT

| 45" T)Lik Z45L - BOTILRL=A> ZF

45° 1)Uk
45° Male Elbow
Z45L

L
M58 (7
M5 Type

mOTI)ViR1I=F>

Union Elbow
EA140HK-4
EA140HK-6
“ P EA140HK-8
N ' ‘f; EA140HK-10
" EA140HK-12

@C

(unit : mm)
Z45L-045M M5X0.8 8 145 | 18 4 16 10 2.5 5
Z451.-041 4 1/8 10 | 205 | 18 8 16 10 25 8
Z45L-042 1/4 14 24 18 11 16 10 25 15
Z45L-065M M5X0.8 10 15 |185| 4 | 175|125 25 6
Z45L-061 1/8 12 | 235 | 20 8 17.5 1125 4 12
Z451L-062 ® 1/4 14 27 20 11 [ 175|125 4 17
Z451L-063 3/8 17 285 | 20 12 [ 175|125 4 26
Z451.-081 1/8 14 25 22 8 19 | 145 6 16
Z451.-082 8 1/4 14 28 22 1 19 | 145 6 19
Z451.-083 3/8 17 | 295 22 12 19 | 145 6 28
Z45L-101 1/8 17 26 25 8 215|175 6.5 25
Z451-102 1/4 17 29 25 11 [ 215|175 8 26
Z451L-103 1 3/8 17 | 305 | 25 12 [ 215|175 8 31
Z451L-104 1/2 22 | 335 | 25 15 [ 21.5|17.5 8 47
Z451L-122 1/4 19 | 305 | 27 11 23 20 8.5 35
Z451-123 12 3/8 19 32 27 12 23 20 9 41
Z451-124 1/2 22 35 27 15 23 20 9 55

(unit : mm)

ZF-040 4 18.5 16 10 4.2 11 7.5 2.5 5
ZF-060 6 21 17.5 12.5 4.2 13.5 8.5 4 7
ZF-080 8 23.5 19 14.5 4.2 15.5 9.5 6 9
ZF-100 10 27 21.5 17.5 4.2 18.5 11 8 15
ZF-120 12 29.5 23 20 4.2 21 12 10 18
ZF-160 16 37 28 26.5 4.2 28 12.5 13.2 42



0807
テキスト ボックス
EA140HK-4



0807
テキスト ボックス
EA140HK-6



0807
テキスト ボックス
EA140HK-8



0807
テキスト ボックス
EA140HK-10



0807
テキスト ボックス
EA140HK-12




Y=V IIbiRA=F >
Turn Elbow

ZL-R

HEX

L2

R(PT) /

L1

M5547
M5 Type

YERIAZ=FY
Y Type Connector
ZY

-

S—VIKI=AY ZLR - YRIA=FY 2y | DVFYTFHE Z-JOINT |

(unit : mm)
R ERF1—T5Re Eﬁnu BE
Part No. | Applicable Tube |Connecting Screw |HEX | L1 | L2 | A | B | C | D | E (9)
O.D. R (PT),M Mass
ZL-045MR M5X%0.8 8 |215|185| 4 | 16 | 10 | 3 | 10 6
ZL-041R 4 1/8 8 | 23 | 26| 8 | 16 | 10 | 3 | 13 | 13 |EAL40HD-41
ZL-042R 1/4 10 | 24 |30 | 11 |16 | 10 [ 35| 15 | 24
ZL-065MR M5X0.8 8 [225|185| 4 |[175|125| 3 | 10 8
ZL-061R 1/8 8 | 24 | 26 | 8 |175|125| 3 | 13 | 14 |EAL40HD-61
ZL-062R ° 1/4 10 | 25 | 30 | 11 |175|125| 35 | 15 | 25 |EAl40HD-62
ZL-063R 3/8 14 |275|365| 12 [17.5|125| 4 | 20 | 45 |EAL40HD-63
ZL-081R 1/8 10 [265| 29 | 8 | 19 [145| 4 | 15 | 20
ZL-082R 8 1/4 12 | 28 | 32 | 11 | 19 |145| 4 |176| 31 |EAL40HD-82
ZL-083R 3/8 14 | 29 |365| 12 | 19 |145| 4 | 20 | 46 |EA140HD-83
ZL-102R 1/4 14 [315(355| 11 |215|175| 4 | 20 | 42 |EA140HD-102
ZL-103R 10 3/8 14 [315(365| 12 [215(175| 4 | 20 | 49 |EA140HD-103
ZL-104R 1/2 17 | 34 |425| 15 |215|175| 4 | 25 | 82 |EA140HD-104
ZL-122R 1/4 17 |355(385| 11 | 23 | 20 | 4 | 25 | 66
ZL-123R 12 3/8 17 |355(|395| 12 | 23 | 20 | 4 | 25 | 68
ZL-124R 1/2 17 |355|425| 15 | 23 | 20 | 4 | 25 | 84
(unit : mm)
& | Aot 2
Mo%el o, pz;;; & “;ﬁ“' S L|Bi|B|c|D|E|F|J|N|[N| P '\Slggs
ASide | B Side
ZY-0404 4 4 345( 16 | 16 | 10 | 21 [ 42 | 11 | 23 | 15 |125] 11 8 EA140HM-44
ZY-0606 6 6 375(175|175|125| 26 | 42 |135|255|17.5| 14 [135| 11 BAL140HM-66
ZY-0808 8 8 |405| 19 | 19 |145| 30 | 42 |155| 27 | 19 | 15 [155| 14 BA140HM-88
ZY-1010 10 10 48 |215(215|175| 36 | 42 |185| 30 | 22 | 18 |185| 23 EA140HM-110
ZY-1212 12 12 53 | 23 | 23 | 20 | 41 |42 | 21 | 32 | 24 |195| 21 30 EA140HM-122
ZY-0604 6 4 |375|175| 16 |125| 26 | 42 [135|255|17.5| 14 [135| 11 BA140HM-64
ZY-0806 8 6 |405| 19 |175|145| 30 | 42 |1565| 27 | 19 | 15 [155| 16 EAL40HM-86
ZY-1008 10 8 48 |215| 19 |175| 36 | 42 |185| 30 | 22 | 18 [185| 20EA140HM-108
ZY-1210 12 10 53 | 23 |215| 20 | 41 [ 42 | 21 | 32 | 24 | 195 21 30 EA140HM-121

. Bl
B side
T T T ‘ T "
i i I
3 Lo 1 ‘ | ;
I i I I
AEIHENE 2-9E
b T ST .
? I I "j
s |71 o
| | z
Ll
1 } 1
oCc
N Afl
J A side

115


0807
テキスト ボックス
EA140HD-41


0807
テキスト ボックス
EA140HD-61



0807
テキスト ボックス
EA140HD-62



0807
テキスト ボックス
EA140HD-63



0807
テキスト ボックス
EA140HD-82



0807
テキスト ボックス
EA140HD-83



0807
テキスト ボックス
EA140HD-102



0807
テキスト ボックス
EA140HD-103



0807
テキスト ボックス
EA140HD-104



0807
テキスト ボックス
EA140HM-44


0807
テキスト ボックス
EA140HM-66



0807
テキスト ボックス
EA140HM-88



0807
テキスト ボックス
EA140HM-110



0807
テキスト ボックス
EA140HM-64



0807
テキスト ボックス
EA140HM-86



0807
テキスト ボックス
EA140HM-108



0807
テキスト ボックス
EA140HM-121



0807
テキスト ボックス
EA140HM-122




| DUSYTF#HF Z-JOINT | RPMYRII=A> ZY-N - CEI=F> ZC

(unit : mm)
1 _— ~
R(IPTY®RIAZ=F pg  |ERFI-THE0|  E@EU oy
Y Tvpe Connector with R(PT Applicable Tube |Connecting Screw|HEX| L | A | B | D | E | F | J | P (g)
ZYypN (PT) | ModelNo. 0.D. R(PT),M Mass
ZY-045MN M5 X 0.8 12 38| 4 [16 |21 [ 42| 11|23 | 11 12
- ) EA140HA-41 | zY-041N 4 1/8 12| 42| 8 |16 |21 (42|11 |23 | 11| 14
; aVp ZY-042N 1/4 14 [455| 11 | 16 | 21 | 42| 11 | 23 | 11 19
\} « 4 ZY-065MN M5X%0.8 12 | 41 | 4 |17.5| 26 | 42 |13.5|255(13.5| 17
\3» ’ ZY-061N 1/8 14 | 46 | 8 [17.5| 26 | 4.2 |13.5|255[135| 19
6
5 EA140HA-62 | ZY-062N 1/4 14 | 49 | 11 [17.5| 26 | 4.2 |13.5(255(135| 22
EA140HA-63 | ZY-063N 3/8 17 |50.5| 12 [17.5| 26 | 4.2 |13.5|25.5[13.5| 31
|
(N ?\ w ZY-081N 1/8 17 | 49 | 8 | 19| 30 | 4.2 |155]| 27 [155| 27
N\
1 EA140HA-82| ZY-082N 8 1/4 17 | 52 | 11 | 19 | 30 | 4.2 |155] 27 [155| 29
L, \ : EA140HA-83| ZY-083N 3/8 17 |53.5| 12 | 19 | 30 | 4.2 |155| 27 [155| 34
0 ‘ ZY-101N3% 1/8 19 | 56 | 8 [21.5| 36 | 4.2 |18.5| 30 [18.5| 41
i 2-E ZY-102N 1/4 19 |59.5| 11 [21.5| 36 | 4.2 |18.5| 30 [18.5| 42
‘ 10
EA140HA-103| zY-103N 3/8 19 | 61 | 12 |21.5| 36 | 4.2 |18.5| 30 [18.5| 48
EA140HA-104| ZY-104N 1/2 22 | 64 | 15 |21.5| 36 | 4.2 [18.5| 30 |18.5| 61
ZY-122N 1/4 22 |645| 11 | 23 | 41 |42 | 21 | 32 | 21 51
HEX
< R ZY-123N 12 3/8 22 [ 66 | 12 | 23 | 41 |42 | 21 | 32 | 21 57
R(PT)
ZY-124N 1/2 22 | 69 | 15 | 23 | 41 |42 |21 |32 | 21 67
XEOKEFSZEEEERTY .
% . Production on order.
< M
M5%247
M5 Type (unit : mm)
1 — ~
CEBa1=#%*> wx |BEFI-TNE0| ERRU mUVE|
C Tvpe Connector Applicable Tube |Connecting Screw | HEX | L1 L2 A B C | Minimum ¢}
chp Model No. oD. R(PT).M Opening | Mass
ZC-045M M5 X 0.8 10 |165|185| 4 | 16 | 10 25 8
ZC-041 4 1/8 10 |205|185| 8 | 16 | 10 25 10 FAL40HG-41
| ZC-042 1/4 14 | 24 [185| 11 | 16 | 10 2.5 17 EA140HG-42
'\ ZC-065M M5X%0.8 12 | 20 | 21 4 175|125 2.5 13
5 H ZC-061 1/8 12 | 24 | 21 8 | 175|125 4 16  EAL40HG-61
p S 6
;; ZC-062 1/4 14 |275| 21 | 11 175|125 4 21  HA140HG-62
L2 L2
,ZE S ZC-063 3/8 17 | 29 | 21 | 12 |175| 125 4 29 FAI40HG-63
F
ZC-081 1/8 14 | 255(235| 8 | 19 | 145 6 20

ZC-082 1/4 14 | 285|235 | 11

14.5 24  EA140HG-82

=
1
[
1
1
| i
1
1
L]
:
1
‘|
1
B
S===
¢C
(o]
I
()]

ZC-083 3/8 17 | 30 [235| 12 | 19 | 145 6 32 EA140HG-83
z 3 [T ZC-1013% 1/8 17 | 27 | 27 | 8 |215|175 6.5 32
J — HEX
e} < \ ZC-102 1/4 17 | 31 | 27 | 11 |215|175 8 34 EAL40HG-102
[{| 4 R(PT) 10
T ZC-103 3/8 17 [325| 27 | 12 | 215|175 8 39 EAL40HG-103
! ZC-104 1/2 22 [355| 27 | 15 [21.5|17.5 8 55 EA140HG-104
2C-122 1/4 19 33 | 295| 11 23 20 8.5 45 EA140HG-122
< ZC-123 12 3/8 19 | 345(295| 12 | 23 | 20 9 51 EA140HG-123
M
MEs12 ZC-124 1/2 22 |375(295| 15 | 23 | 20 9 64
ZC-163 3/8 22 | 41 |355| 12 | 28 | 265 12 80 EA140HG-124
16
ZC-164 1/2 22 | 44 |355| 15 | 28 | 265 12 93
XEOKEFSZEEERTY .

1 16 % 1 Production on order.


0807
テキスト ボックス
EA140HA-41



0807
テキスト ボックス
EA140HA-62



0807
テキスト ボックス
EA140HA-63



0807
テキスト ボックス
EA140HA-82



0807
テキスト ボックス
EA140HA-83



0807
テキスト ボックス
EA140HA-103



0807
テキスト ボックス
EA140HA-104



0807
テキスト ボックス
EA140HG-41



0807
テキスト ボックス
EA140HG-42



0807
テキスト ボックス
EA140HG-61



0807
テキスト ボックス
EA140HG-62



0807
テキスト ボックス
EA140HG-63



0807
テキスト ボックス
EA140HG-82



0807
テキスト ボックス
EA140HG-83



0807
テキスト ボックス
EA140HG-102



0807
テキスト ボックス
EA140HG-103



0807
テキスト ボックス
EA140HG-104



0807
テキスト ボックス
EA140HG-122



0807
テキスト ボックス
EA140HG-123



0807
テキスト ボックス
EA140HG-124




DEIA=FY
D Type Connector
ZD

>
o

$C

M

M5517
M5 Type

TEIOZ=HFY
T Type Union
ZT

EA140HL-4
EA140HL-6
) EA140HL-8

EA140HL-10

EA140HL-12

DEI=#Y 7D - TRA=#Y ZT | JUFvFHFE Z-JOINT |

(unit : mm)
ZD-045M M5 X 0.8 10 | 165|185 | 4 16 10 25 8
ZD-041 4 1/8 10 [ 205|185 | 8 16 10 2.5 10
ZD-042 1/4 14 24 |185 | 11 16 10 2.5 17
ZD-065M M5 X 0.8 12 195 21 4 1175|125 2.5 13
ZD-061 1/8 12 24 21 8 175|125 4 16
ZD-062 ° 1/4 14 |275| 21 11 | 17.5| 12,5 4 21
ZD-063 3/8 17 29 21 12 | 17.5|12.5 4 29
ZD-081 1/8 14 [ 255(235| 8 19 | 145 6 20
ZD-082 8 1/4 14 1285|235| 11 19 | 145 6 24
ZD-083 3/8 17 30 |235]| 12 19 | 14.5 6 32
ZD-102 1/4 17 31 27 11 215|175 8 34
ZD-103 10 3/8 17 | 32,5 | 27 12 | 21.5|17.5 8 39
ZD-104 1/2 22 | 355 27 15 |21.5|17.5 8 55
ZD-122 1/4 19 33 | 295| 11 23 20 8.5 45
ZD-123 12 3/8 19 | 345|295 12 23 20 9 51
ZD-124 1/2 22 | 375|295 15 23 20 9 64
ZD-163 3/8 22 41 37 12 28 | 26.5 12 80
ZD-164 1 1/2 22 44 37 15 28 | 26.5 12 93
(unit : mm)

ZT-040 4 18.5 16 10 4.2 11 7.5 25 8
ZT-060 6 21 17.5 12.5 4.2 13.5 8.5 4 11
ZT-080 8 23.5 19 14.5 4.2 15.5 9.5 6 14
ZT-100 10 27 21.5 17.5 4.2 18.5 11 8 23
ZT-120 12 29.5 23 20 4.2 21 12 10 30
ZT-160 16 37 28 26.5 4.2 28 12.5 13 61

EA140HB-41

EA140HB-61

EA140HB-62

EA140HB-82

EA140HB-103

117


0807
テキスト ボックス
EA140HB-41



0807
テキスト ボックス
EA140HB-61



0807
テキスト ボックス
EA140HB-62



0807
テキスト ボックス
EA140HB-82



0807
テキスト ボックス
EA140HB-103



0807
テキスト ボックス
EA140HL-4



0807
テキスト ボックス
EA140HL-6


0807
テキスト ボックス
EA140HL-8



0807
テキスト ボックス
EA140HL-10



0807
テキスト ボックス
EA140HL-12




0
M
4
F
F
ES

—HZ2—0c -N

| DUSYFHFE Z-JOINT | ®ETRI=FY 2T - ARU—bh1ZHY ZS - BEX RU—h1=FY 7S

BERTRA=FY
Reducing T Type Union
ZT

G

#C
Bl N
B Side
r: ™ 2-¢E
]
g |1
- |
I
! A
el | | A Iy =
== i
_, i
o | AfRl
o . B A Side
I
s
B
B Side L
— ~
ANL—bAZ=FY
Equal Union
EA140HJ-4
EA140HJ-6
EA140HJ-8
% EA140HJ-10
EA140HJ-12
B
— - —1H 8

BRANV—h2Z=HY
Reducing Equal Union
ZS
LY
B1 B2
Al Bl
A Side B Side

118

BIEER

(unit : mm)

ZT-0406 4 6 20.9 16 175 | 125 4.2 13.5 8.5 2.5 11
ZT-0604 6 4 21 17.5 16 12.5 4.2 13.5 8.5 2.5 11
ZT-0608 6 8 23.5 | 17.5 19 14.5 4.2 17.5 9.5 4 14
ZT-0806 8 6 23.5 19 175 | 145 4.2 15.5 9.5 4 13
ZT-0810 8 10 27.2 19 215 | 175 4.2 18.5 11 6 22
ZT-1008 10 8 27 21.5 19 17.5 4.2 18.5 11 6 20
ZT-1012 10 12 29.2 | 215 23 20 4.2 21 12 8 29
ZT-1210 12 10 29.5 23 21.5 20 4.2 21 12 8 28

B
(unit : mm)
ZS-040 4 33.5 16 10 2.5 4
ZS-060 6 36.5 17.5 12.5 4 6
ZS-080 8 39.5 19 14.5 6 8
ZS-100 10 45 21.5 17.5 8 13
ZS-120 12 47.5 23 20 10 17
ZS-1603% 16 58 28 265 13 38
XENDHIEIZFEERTI
% : Production on order.
(unit : mm)

Z7S-0604 6 4 36.5 17.5 16 12,5 2.5 6

Z7S-0804 3% 8 4 39.5 19 16 14.5 2.5 8

ZS-0806 8 6 39.5 19 17.5 14.5 4 8

ZS-10063% 10 6 45 215 17.5 17.5 4 13

ZS-1008 10 8 45 21.5 19 17.5 6 12

78-1210 12 10 47.5 23 21.5 20 8 17
KENDHIEIFZIEERTY .

%% : Production on order.


0807
テキスト ボックス
EA140HJ-4



0807
テキスト ボックス
EA140HJ-6



0807
テキスト ボックス
EA140HJ-8



0807
テキスト ボックス
EA140HJ-10



0807
テキスト ボックス
EA140HJ-12




JULIAYRIZFY ZX - JULIAYRIZFY (M) ZK - IREEXRL=AY ZE |

DUy FHE Z-JOINT |

NIVOANYRIZ=F

Bulkhead Union

ZX
EA425DF-21
EA425DF-22
EA425DF-23
EA425DF-24
EA425DF-25

E (max)

NILoANyRIAZF V(M)
Bulkhead Union
ZK

EA425DD-4
EA425DD-6
EA425DD-8

EA425DD-10

EA425DD-12

%B2 B1

REEXR =AY
Bulkhead Union
ZE

Re(PT) MXP

HEX1 _~

(unit : mm)
ZX-040 4 14 33 16 7.5 M12 X1 13 2.5 20
ZX-060 6 17 36 17.5 9.5 M14 X1 15 4 33
ZX-080 8 19 39 19 12.5 |M16X1 17 6 42
ZX-100 10 23 44.5 21.5 18 M20 X1 21 8 75
ZX-120 12 26 47 23 20.5 | M22X1 23 9 92
ZX-160 16 30 57.5 28 26 M26X1.5 27 11 144

(unit : mm)
ZK-0404 4 10 [ 14 | 14 |29.5/ 15 |16 | 11 | 5 [M12X1 13 2.5 21
ZK-0606 6 12 | 17 | 17 | 33 | 16 |17.5/11.5] 5 |[M14X1 15 4 31
ZK-0808 8 14119 |19 | 35 |175/ 19 | 13 | 6 |M16X1 17 6 41
ZK-1010 10 17 | 22 | 23 | 40 |19.5/21.5(14.5| 9 [M20X1 21 8 68
ZK-1212 12 19 | 24 | 26 |43.5| 21 | 23 | 16 | 10 |M22 X1 23 9 85

XENFIE(E Ty MEROM T B EIOBIE T EZRDT .
Dimension "3 " shows rough dimension before the nut is tightened.

¥ oAy RAZAV(ZKE. FRIBY TV v FREMERF(ME) EFUBEE > TLET,

As for the Bulkhead Union "ZK Series" : The structure of one side is same as our Double-touch type Tightening

Tube Fitting ("M"series)

%5 TV v FREGERTF (ME) OFFHIEPS 7 2S8R < &L,

Please refer to page 57 for details of “M”series.

(unit :

mm)

ZE-041 1/8 14 | 14 |255] 11 | 8 | 16 | 5 [M12X1 13 25 |21
ZE-042 ! 1/4 17 | 14 (28.5| 14 | 11 | 16 | 5 |M12X1 13 25 |28
ZE-061 1/8 17 |17 |27 | 11 | 8 |17.5| 5 |M14X1 15 4 33
ZE-062 6 1/4 17 | 17 | 30 | 14 | 11 [17.5] 5 |M14X1 15 4 33
ZE-063 3/8 19 | 17 (31.5| 15 | 12 [17.5| 5 |M14X1 15 4 35
ZE-081 1/8 19 [ 19 (285 11 | 8 | 19 | 6 [M16X1 17 6 42
ZE-082 8 1/4 19|19 (31.5| 14 | 11 | 19 | 6 |M16X1 17 6 56
ZE-083 3/8 19 | 19 (32.5| 15 | 12 | 19 | 6 |M16X1 17 6 38
ZE-102 1/4 22 | 283 |34.5| 14 | 11 |21.5] 9 |M20X1 21 8 73
ZE-103 10 3/8 22 | 23 |35.,5/ 15 | 12 |21.5| 9 |M20X1 21 8 68
ZE-123 3/8 24 | 26 |37.5/ 15 | 12 | 23 | 10 |M22X1 23 9 88
ZE-124 12 1/2 24 | 26 |40.5| 18 | 15 | 23 | 10 |M22X1 23 9 82
ZE-163 3/8 30 | 30 | 43 | 15| 12| 28 | 12 |M26X15| 27 11 110
ZE-164 10 1/2 30 | 30 | 46 | 18 | 15 | 28 | 12 |M26X15| 27 11 (111

EA140HE-41
EA140HE-42
EA140HE-61

EA140HE-62

EA140HE-63

EA140HE-82

EA140HE-83
EA140HE-102

EA140HE-103
EA140HE-123

EA140HE-124

119


0807
テキスト ボックス
EA425DF-21



0807
テキスト ボックス
EA425DF-22



0807
テキスト ボックス
EA425DF-23



0807
テキスト ボックス
EA425DF-24



0807
テキスト ボックス
EA425DF-25



0807
テキスト ボックス
EA425DD-4



0807
テキスト ボックス
EA425DD-6



0807
テキスト ボックス
EA425DD-8



0807
テキスト ボックス
EA425DD-10



0807
テキスト ボックス
EA425DD-12



0807
テキスト ボックス
EA140HE-41


0807
テキスト ボックス
EA140HE-42



0807
テキスト ボックス
EA140HE-61



0807
テキスト ボックス
EA140HE-62



0807
テキスト ボックス
EA140HE-63



0807
テキスト ボックス
EA140HE-82



0807
テキスト ボックス
EA140HE-83



0807
テキスト ボックス
EA140HE-102



0807
テキスト ボックス
EA140HE-103



0807
テキスト ボックス
EA140HE-123



0807
テキスト ボックス
EA140HE-124




[ DUSYTFHF Z-JOINT | X21=4Y ZP - 205 —YTILiK1=74Y ZLY-R

(unit : mm)
XRAAZHFY
Female Connector
ZP ZP-041 1/8 12 | 255 | 11 8 16 25 9  |EA425DB-1
ZP-042 ) 1/4 17 | 285 | 14 | 11 16 25 23  [EA425DB-2
ZP-061 1/8 14 | 27 | 11 8 | 175 4 16  |EA425DB-3
ZP-062 6 1/4 17 | 30 | 14 | 11 | 175 4 24  |EA425DB-4
ZP-063 3/8 19 | 31 15 | 12 | 175 4 25  |EA425DB-5
\ . ZP-081 1/8 17 | 285 | 11 8 19 6 26  [EA425DB-6
Re (PT) ZP-082 8 1/4 17 | 315 | 14 | 11 19 6 27 |EA425DB-7
ZP-083 3/8 19 32.5 15 12 19 6 29  |[EA425DB-8
ZP-102 1/4 19 | 345 | 14 11 | 215 8 42  [EA425DB-9
ZP-103 10 3/8 19 | 355 | 15 | 12 | 215 8 35  EA425DB-10
ZP-1043% 1/2 24 | 385 | 18 | 15 | 205 8 51
HEX ZP-122 1/4 22 | 3 | 14 | 1 23 10 57  FA425DB-11
L ZP-123 12 3/8 22 37 15 12 23 10 53 EBA425DB-12
ZP-124 1/2 24 | 40 | 18 | 15 | 23 10 56  EA425DB-13
XENDHIBIFSZIEERTT
% : Production on order.
(unit : mm)
2O5—YIiRkd1=7F>
Two Port Turn Elbow
ZLY-R ZLY-045MR 4 M5X%0.8 8 |21.5(185 4 [ 16|10 | 3 |10 |21 | 11| 9
ZLY-061R 6 1/8 8 |24 |26 | 8 |17.5(12.5| 3 | 13 | 26 [13.5| 18
ZLY-082R 8 1/4 12 | 28 | 32 | 11 | 19 |14.5| 4 |17.6| 30 |15.5| 36
A ZLY-103R 10 3/8 14 |31.5/36.5| 12 [21.5(17.5| 4 | 20 | 36 |18.5| 54
ZLY-124R 12 1/2 17 |35.5(42.5) 15 [ 23 |20 | 4 |25 |41 | 21| 90
5 i
. RESE
v ; ol o
F i
e R(PT) r
#C
: =
EI% 5 E I é o HEX
N (o

¢|E

.

64
o T

A
L2
A
M
M5%217

1 2 O M5 Type


0807
テキスト ボックス
EA425DB-1



0807
テキスト ボックス
EA425DB-2



0807
テキスト ボックス
EA425DB-3



0807
テキスト ボックス
EA425DB-4



0807
テキスト ボックス
EA425DB-5



0807
テキスト ボックス
EA425DB-6



0807
テキスト ボックス
EA425DB-7



0807
テキスト ボックス
EA425DB-8



0807
テキスト ボックス
EA425DB-9



0807
テキスト ボックス
EA425DB-10



0807
テキスト ボックス
EA425DB-12




0807
テキスト ボックス
EA425DB-11



0807
テキスト ボックス
EA425DB-13




LEIT ST
L Type Plug
ZL-P

:‘ -

CEITST
C Type Plug
ZC-P

L2

P Sy W

L1

LBTS55 ZLP - CRTSY ZCP | DUSYF#HF Z-JOINT |
(unit : mm)
ZL-0404P 4 30 18.5 14 16 10 1.7 4
ZL-0406P 4 6 31 18.5 | 13.5 16 10 1.7 4
ZL-0408P 8 32.5 | 185 | 135 16 10 1.7 5
ZL-0606P 6 34 21 16.5 | 17.5 | 125 3.4 6
ZL-0608P 6 8 355 21 16,5 | 175 | 125 3.4 7
. ZL-0610P 10 38 21 16.5 | 175 | 125 3.4 8
2
B ZL.-0808P 8 36.5 | 28,5 | 17.5 19 14.5 5.4 9
B ZL-0810P 8 10 39 235 | 17.5 19 14.5 5.4 10
:' 2 ZL-0812P 12 40 23.5 17 19 14.5 5.4 11
ZL-1010P 10 41.5 27 20 215 | 175 6.8 14
ZL-1012P " 12 42.5 27 195 | 215 | 175 6.8 15
ZL-1212P 12 12 445 | 295 | 215 23 20 8.8 18
(unit : mm)
ZC-0404P 4 30 18.5 14 16 10 1.7 6
ZC-0406P 4 6 31 18.5 | 13.5 16 10 1.7 6
ZC-0408P 8 32.5 | 185 | 135 16 10 1.7 7
ZC-0606P 6 34 21 16.5 | 17.5 | 125 3.4 9
ZC-0608P 6 8 355 21 16,5 | 175 | 125 3.4 10
. ZC-0610P 10 38 21 16.5 | 17.5 | 125 3.4 11
>
73 ZC-0808P 8 36.5 | 285 | 17.5 19 14.5 5.4 13
. ”r; ZC-0810P 8 10 39 23,5 | 175 19 14.5 5.4 14
L_f _,,_,,:,—:i < ZC-0812P 12 40 23.5 17 19 14.5 5.4 15
ZC-1010P 10 41.5 27 20 215 | 175 6.8 20
ZC-1012P " 12 425 27 195 | 215 | 17.5 6.8 21
Wi ZC-1212P 12 12 445 | 295 | 215 23 20 8.8 26
|

121



| DUSYFHE Z-JOINT | YRTISH ZYP - FR51=%4Y ZTR

(unit : mm)
YRITS S
Y Type Plug
ZY p ZY-0404P 4 515|355/ 16 | 21 [ 42| 11 | 23 | 11 1.7 8
ZY-0406P 4 6 525/ 35|16 | 21 |42 | 11 | 23 | 11 2.5 8
ZY-0408P 8 54 |3 (16 |21 42|11 |23 | 11 2.5 8
ZY-0606P 6 55.5| 38 [17.5] 26 | 4.2 [18.5(25.5(18.5| 3.9 11
ZY-0608P 6 8 57 | 38 [17.5| 26 | 4.2 [13.5(255(135| 4 11
ZY-0610P 10 50.5| 38 [17.5| 26 | 4.2 [13.5/255/135| 4 12
ZY-0808P 8 60 | 41 | 19 | 30 | 42 |15.5| 27 |[155| 59 14
. ZY-0810P 8 10 62.5| 41 | 19 | 30 | 4.2 |156.5] 27 |15.5 6 15
ZY-0812P 12 63.5|40.5| 19 | 30 | 4.2 |15.5| 27 |15.5 6 16
P Bl ZY-1010P 10 70 |48.5|21.5| 36 | 4.2 |185| 30 185 6.8 23
| | B Side — 10
o ZY-1012P 12 71 | 48 |215| 36 | 4.2 [185| 30 [185| 8 23
o | | ‘ ZY-1212P 12 12 76 |53 |23 |41 42|21 |32 |21 | 88 29
LI
T i <
2-0E -
Al
A Side
”
(unit : mm)
FhZ1=F
Tetra Connector
ZTR ZTR-04 4 19 16 10 4.2 11 7.5 2.5 7
= ZTR-06 6 21.5 17.5 12.5 4.2 13.5 8.5 4 11
ZTR-08 8 24 19 14.5 4.2 15.5 9.5 6 14
ZTR-10 10 27.5 21.5 17.5 4.2 18.5 13 8 24
ZTR-12 12 30 23 20 4.2 21 14 10 31

%
P4
4
Y
§
0]
F

—Z2—0cC-N

122



RPDAFNS1=4Y ZTRN - FYRI1=4Y ZFY | DUV FME Z-JOINT |

(unit : mm)
RPOIFNZAZAY | . |esrasiee| many BivE| HE
';E;-aRC(I)\nlnector with R(PT) Model No. Appllcg-tgc-eTube Corgzc:t_llr_?'sh(;rew HEX| L1 | L2| A| B| C| E| F | N '\g;;]gr?;rg '\ggs)s
ZTR-045MN M5X0.8 10 (225 19| 4 | 16| 10| 42| 11 | 7.5 2.5 11
- ZTR-041N 4 1/8 10 (26.5| 19| 8 | 16 | 10 | 42| 11 | 7.5 2.5 13
'.') I l (‘ ZTR-042N 1/4 14 (30 (19| 11| 16| 10| 42| 11 |75 2.5 20
L ) ZTR-065MN M5X0.8 14 | 25 (215 4 |17.5/12.5| 4.2|13.5| 8.5 2.5 19
Tg ZTR-061N . 1/8 14 | 30 [21.5| 8 |17.5/12.5| 4.2|13.5| 8.5 4 22
L ZTR-062N 1/4 14 | 33 [21.5] 11 |17.5/12.5| 4.2 |13.5| 8.5 4 25
i ZTR-063N 3/8 17 |34.5/21.5| 12 |17.5/12.5| 4.2|13.5| 8.5 4 33
(fl:—-—» I ZTR-081N 1/8 17 [32.5| 24 | 8 | 19 [14.5| 4.2|15.5| 9.5 6 28
i ! > 7: 77777 U= ZTR-082N 8 1/4 17 |35.5| 24 | 11| 19 [14.5| 4.2|15.5| 9.5 6 33
i [ $E ZTR-083N 3/8 17 | 37 | 24| 12| 19 |14.5] 4.2 155/ 9.5 6 38
= ,I\ll ZTR-102N 1/4 19 [39.5/27.5| 11 |21.5/17.5| 4.2|18.5| 13 8 45
L28 ZTR-103N 10 3/8 19 | 41 (27.5| 12 |21.5/17.5| 4.2|18.5| 13 8 52
ZTR-104N 1/2 22 | 44 |27.5| 15 |21.5|/17.5| 4.2 |18.5| 13 8 65
@ i:r’_lli:g“' ZTR-122N 1/4 22 1415/ 30| 11| 23| 20 (42| 21| 14 8.5 60
| d ZTR-123N 12 3/8 22 | 43| 30| 12| 23|20 (42| 21| 14 9 68
i} i ZTR-124N 1/2 22 | 46| 30| 15| 23| 20| 42| 21| 14 9 77
HEX
<
R(PT)
< M
M5 517
M5 Type
(unit : mm)
1 — ~
FYg:JJ_Z-J nE %‘Fﬁﬁl;j?%‘p L1 | L2 B C D E F G N B ﬁlj'\ﬂﬁ EEij
FZYF'I%pe Connector Model No. | APPICERE Tube Oponing Viass
ZFY-04 4 17.5|23.5| 16 | 10 | 21 | 3.2 | 11 18 [15.5| 11 2.5 8
= ZFY-06 6 19.5| 27 [17.5(125| 26 | 4.2 |13.5|22.5| 17 |13.5 4 12
-l ZFY-08 8 22 | 29 | 19 |145| 30 | 4.2 |155|26.5| 18 |15.5 6 16
) ZFY-10 10 25.5| 33 (21.5|17.5| 36 | 4.2 |185|31.5| 20 |18.5 8 25
' i” ZFY-12 12 28 |355| 23 | 20 | 41 |42 | 21 | 37 |21.5] 21 10 34
L2
B
I
i o

123



| DUSYFHE Z-JOINT | RPTHFYRII=7Y ZFY-N - ZEYRI1=4> ZWY

(unit : mm)
1 — ~
R(PDfIFYEIA=H#>
FY Type Connector with R(PT)
ZFY-045MN M5X0.8 | 10 |21 [23.5| 4 | 16|10 |21 [32]11|18[155 11| 25 | 12
J‘—g ZFY-041N 4 1/8 10|25 235/ 8 |16 |10 |21 |3.2| 11 | 18 |15.5] 11 2.5 14
s ) i
} L\‘ 1 ZFY-042N 1/4 14 128.5(23.5/ 11 | 16 |10 | 21 |3.2| 11 | 18 |15.5] 11 2.5 20
ZFY-065MN M5X0.8 | 14 | 23 | 27 | 4 [17.5/12.5| 26 |4.2 [13.5/22.5( 17 |135| 25 | 21
ZFY-061N 1/8 14128 |27 | 8 [17.5[12.5| 26 | 4.2 |13.5[22.5| 17 {13.5 4 23
6
ZFY-062N 1/4 14| 31 [ 27 | 11 [17.5{12.5| 26 | 4.2 |13.5]22.5| 17 {13.5 4 26
M55 417
M5 Type ZFY-063N 3/8 17 132.5| 27 | 12 [17.5{12.5| 26 | 4.2 |13.5]22.5| 17 {13.5 4 35
— ZFY-081N 1/8 |17 (305|209 | 8 |19 [14.5) 30 | 4.2 [15.526.5 18 [155] 6 | 30
= T ZFY-082N 8 1/4 | 1733529 | 11 |19 [14.5( 30 | 4.2 [15.526.5/ 18 [155| 6 | 34
w
\ i ZFY-083N 3/8 17 135 (29 |12 | 19 |14.5| 30 | 4.2 |15.526.5| 18 [15.5 6 39
(@]
- © ZFY-102N 1/4 | 19375 33 | 11 [21.5/17.5 36 | 4.2 [185[31.5| 20 |185] 8 | 47
L\I A HEX
< J L RPT) ZFY-103N 10 3/8 |19 |39 |33 |12 [215/17.5 36 |42 185315/ 20 |185] 8 | 53
ZFY-104N 1/2 22 | 42 | 33 | 15 |121.5{17.5| 36 | 4.2 |18.5/31.5| 20 |18.5 8 66
i ZFY-122N 1/4 22 (39.5|35.5| 11 | 23 | 20 | 41 |4.2| 21 | 37 [21.5| 21 8.5 63
| - () } “alo
Jl—— ZFY-123N 12 3/8 | 22|41 (35512 |23 |20 |41 42|21 |37 [215/ 21| o | 7
' /4 !
o/ |1 ZFY-124N 172 | 22|44 (35515 |23 | 20|41 |42 |21 |37 215/ 21| 9 | 80
N
(unit : mm)

“EYBO=HFY
Double Y Type Connector
ZWY

ZWY-0604 6 4 39 | 175 | 16 | 125 | 10 21 3.2 22 | 165 | 11 14

ZWY-0806 8 6 43 19 | 175 | 145 | 125 | 26 3.2 27 17 | 185 20

%
b4
4
Y
;
1]
F

z
1
J
9
C2 C2
'# e 2 BIAl
, B Side
I I B |
=== T
- c
el ®
g
_=i_7 r— ——
,l 7| — -
oE ™ {\:‘
]
] &
)
ll i IJ

124 6C1 | WSt




RPHAZEYRI=4Y ZWY-N - JOR1=4Y ZOR - LYa—H—ZR | TYFYFME Z-JOINT |

(unit : mm)
— = — -~
RIPOHZEYRI=FY
Double Y Type Connector with R(PT)
. ZWY-045MN M5X0.8 | 14 |425| 4 |16 | 10 | 21 |3.2| 22 [155| 11 | 23
ZWY-041N 4 1/8 14 [475| 8 |16 | 10 | 21 |32 | 22 [155] 11 | 25
a w ZWY-042N 1/4 14 |505| 11 | 16 | 10 | 21 | 3.2 | 22 |155| 11 | 28
: ZWY-065MN M5X0.8 | 17 |46.5| 4 |17.5(125| 26 | 3.2 | 27 | 17 |13.5| 36
ZWY-061N 1/8 17 |51.5| 8 |17.5|12.5| 26 |32 | 27 | 17 [185| 34
] 6
- © ZWY-062N 1/4 17 |54.5| 11 [17.5|12.5| 26 | 3.2 | 27 | 17 |18.5| 39
PR ZWY-063N 3/8 17 | 56 | 12 [17.5|12.5| 26 | 3.2 | 27 | 17 |185| 44
¢EyJ L
N e
HEX ;
R(PT) j < " M55 AT L
M5 Type N
(unit : mm)
— ~
O20X1=FY
Cross Union
ZCR-08 8 24 19 145 42 155 95 6 19
3 i ZCR-10 10 27.5 21.5 17.5 4.2 18.5 11 8 30
i [
(T ::iji il ZCR-12 12 30 23 20 42 21 12 10 39
¢C
¥E
x-/
LY
T &9_:; z
o NATT
S
11 1
5 C IJ
L L
(unit : mm)

Lya—H—

Reducer
ZR ZR-0406 6 38.5 21 16 10 2.3 3
ZR-0408 3% ! 8 40.4 21 16 10 3 4
ZR-0604 4 42 26 17.5 12,5 2.3 4
ZR-0608 6 8 41 22 17.5 12.5 4 4
ZR-0610 10 42 20.5 17.5 12.5 4 5
ZR-0810 10 445 23 19 14.5 6 6
: . B ZR-0812 ° 12 44 21 19 14.5 6 7
________ £ ZR-1012 10 12 48 25 215 17.5 8 9

LEIDY | rommsmemacs.
___E_;_E_ B i_ I H~ % ! Production on order.
[ S r— i

125



2
A
4
F
F
ES

—HZ2—0c -N

126

| DUHYTFHE Z-JOINT

| EHTSY 20V - BEBGTISY ZJ - IS5 TS5Y ZM-BY

BRIS5T

Connector Plug

8 RY 77 = K5 (Material : Polyamide) (unit : mm)

ZJ-040V 4 43 11 16 2.5 0.5
ZJ-060V 6 43 8 175 4 1
e ZJ-080V 8 47 9 19 6 15
,,»/ ZJ-100V 10 56 13 21.5 7.5 25
I
ZJ-120V 12 61 15 23 9.2 3.5
L
i N
TN | i||
— H — i Ii,
11| L
T T
______ ML IV
B 0 B
8 7RY 7 = REIAE (Material : Polyamide) (unit : mm)
, —_
HEREHG TS
Reducing Connector Plug
2J-0406 4 6 43 9.5 16 175 2.3 0.8
ZJ-0608 6 8 45 8.5 175 19 4 1
2J-0810 8 10 50.5 10 19 21.5 6 2
e ZJ-1012 10 12 58 13.5 21.5 23 7.5 3
&
L
""" Rt
=i
AfEl g [ S BfEl
A Side B Side

2520750
Blank Plug
ZM-BV

Zd

#MERY 7 = REES (Material : Polyamide) (unit : mm)

ZM-04BV 4 27 11 6 0.5
ZM-06BV 6 29 11.5 8 1
ZM-08BV 8 33 14 10 2
ZM-10BV 10 40 18.5 12 3
ZM-12BV 12 43 20 14 4




Fvv T ZOP - JOvIRoAR—V RV ZM - FTOyIR=m—bREVIIWRPDR ZMN | DVFvFHMF Z-JOINT |

FrvJ
Cap
ZCP

JOvIvZR—=ILR(ZVI))
Block Manifolds(Single)

-L-I
(N1
Fatn
N CH
2-QEAF1—-THE
~" 2-Qz Applicable tube O.D.
N1 3-QiEAF1-THNE
g / 3-Q1 Applicable tube O.D.
#C /
b
S
—— 2 3
|
@
N, 2-94.5%
B1

70y Iv=k=ILR(Z V)
R(PT)ft
Block Manifolds (Single) with R(PT)
ZM-N

OFf -

B4 QuiEfF1—IAR
" Qz Applicable tube O.D.
My 3-QuiERF1—THE
/ 3-Q1 AgiujcabletubeOAD.
oe

B2
2

L1

o
i z
o
cA—

R (PT)

(unit : mm)
ZCP-04 4 16 10 18 2
ZCP-06 6 17.5 12.5 19.5 3
ZCP-08 8 19 14.5 21 4
ZCP-10 10 21.5 17.5 24 7
ZCP-12 12 23 20 26 9
(unit : mm)
ZM-0406 6 64 18.5 16 175 | 125 | 135 10.5 39 10.5 16
ZM-0408 8 66 19.5 16 19 145 | 155 | 115 39 10.5 18
ZM-0608 8 73 21 17.5 19 145 | 15.5 11.5 | 46.5 13 23
ZM-0610 10 78.5 22 175 | 21,5 | 175 | 18.5 13 46.5 13 28
ZM-0810 10 84.5 | 23.5 19 215 | 175 | 185 13 52.5 15 33
-
-
a¥y:
£ -
BV
(unit : mm)
ZM-04061N 6 1/8 14 |72.5(18.5| 8 | 16 [17.5(12.5|13.5|10.5| 39 [10.5| 27
ZM-04082N 8 1/4 17 |77.5(19.5| 11 | 16 | 19 [14.5|15.5|11.5| 39 [10.5| 37
ZM-06082N 8 1/4 17 |184.5| 21 | 11 |17.5| 19 |14.5/15.5|11.5|46.5| 13 41
ZM-06103N 10 3/8 19 [91.5| 22 | 12 [17.5]21.5/17.5/18.5| 13 |46.5| 13 56
ZM-08103N 10 3/8 19 197.5|28.5| 12 | 19 [21.5|17.5/18.5| 13 |52.5| 15 61

“

RV

127



| DUSYFHFE Z-JOINT | JOvo==h—ILK ZBM - JOv &< =ik—)L KR(PT)f$ ZBM-N

(unit : mm)
JOvov=ik—ILER
Block Manifolds
ZBM-0408 4 8 66 |19.5|295| 16 19 (145| 10 |17.5|10.5| 38 | 10.5 24
ZBM-0610 6 10 785 | 22 32 (175|215 |175| 10 | 195 | 12 45 13 37
ZBM-0812 8 12 87 [245]| 36 19 23 20 [11.5] 22 13 51 15 47
L2
ﬁ) l 1L ‘I‘ LCL\‘
- ] I
] ]
2-Q AT 2 - THE
2-Q2 Applicable tube O.D.
N1 6-Q,88% - TA%
S 6-Q1 Applicable tube O.D.
#c
%
N
- Hﬂj% 5
-
Y,
D)
P
s |l @
” 2-94.5
B1
(unit : mm)
70v 73 Zik—=IL RR(PT)fH
Block Manifolds with R(PT)
ZBM-04082N 4 8 1/4 17 |77.5(19.5|29.5| 11 | 16 | 19 |14.5| 10 |17.5|10.5| 38 |10.5| 43
ZBM-04083N 4 8 3/8 17 | 79 |19.5|29.5| 12 | 16 | 19 [14.5| 10 |17.5|10.5| 38 |10.5| 48
ZBM-06103N 6 10 3/8 19 191.5| 22 | 32 | 12 [17.5]21.5{17.5| 10 |19.5| 12 | 45 | 13 | 65
ZBM-06104N 6 10 1/2 19 [94.5| 22 | 32 | 15 [17.5|21.5|17.5| 10 [19.5] 12 | 45 | 13 | 78
9 ‘ ZBM-08123N 8 12 3/8 22 |100(24.5/ 36 | 12 | 19| 23 |20 [11.5/ 22 | 13 | 51 | 15| 86
Z .
g ZBM-08124N 8 12 1/2 22 |103(24.5/ 36 | 15 | 19 |23 | 20 [11.5/ 22 | 13 | 51 | 15| 95
>
¥ o
w
5
Q.87 2- 748
B1 Q2 Applicable tube O.D.
N1, 6-0, 887 1~ THE

6-Q1 Applicable tube O.D.

B2

—-Z—-0c-N
g
i
[y

128



90

/\ EBEEROLEIEEE

A\ ERLEDER

1. A% 07 OERFHEERN CEE. RS EHE) TTEALIEEL,

2. BEBICK O CIFERIEELF 12— TR TS ATF v JRICREN. ERHROEDEEATEEVEENSD FT,
TSAFYIFa1—TICOVTR ENZENDF 21— T Ay OJ DERBEEZRFEEL,

B HREICKO>TRTISAFYvIF1—THADE. A VY — IV IZFERULEIINEED T A

4. FVVDRELTVBRECTOTERAIF SHEBKEE L,

5 BERZEDREPESH NGB TTERLIEE,

6. BEDIREICEZEHIND DEENDED T IEBIF T REEVHBFDEE . ER P QUDRBRHIDRET DIRERELEDET,

7. MFMEZEERTREPRIECOEASRIT T EE L,

8. A5 NEPE MDA AR UBRIADBE(C & RECRHEHHOREEAICH T 2LZ2MZ T2 (CEE. 3D S X SEALEEL,

9. MFDEER CIFENZILDFERENENC L 2R UREL T IZE .

10. FFOEID AT PERDOAUICKRU TIE =)L EORIFAFERDRNT L IEE L,

1.y bEfTTDRORINF Ty MRERICE 2 cbDZEER LTI EE L,

12. $FOMORITAEZEZ DHEE MTRFDT v MEEHTHSAAZEEZ T EEL,L. (AW.BW)

13. BFF R UEE AN — R DIRWGEH T T BB DSBS & RFERZTV i T REICE STENL SFER L TLIEE L. (AW.BW)

14. 12 UBRZ i< 1F D & EERT T ML I ICTHRS I T IZE W,

15. R UERZ it 1T DB EENZIMAFNTLTZE L,

16. F 1 —J DEREFTOBEREZERHICE. ENZTNOF 1 —TR/IHEHIFFEUTICESEVKR S [TERULTEEL T ZEL,

7. F1—JRBERAF1—THyy—ZAVT.EBICYILTLIZE L,

18. F 1 — T DEAIMFAEDRE L TE TRRICIT > TLREVSFEATEFRENPRIFORRICED X,

19. BHBRUADTSAF v IF 1—TZSHEAICHEONDHEICE. F 1— T OARTERUREREZL T TR EE0,

20. MFDEEFFRE TR EREZHIET 2HEE . BLENHZRICMHO STENK S CLTLIZE L,

21 MFDEEFFRE TR ERZHHE LRI HRE D ORNDMENC EZER LT IZE 0,

2. REFERZROFCESH BN ZEIF . A0CUTORICLTLIEE L,

B ANTFAREET v hEEY FUERETREULCTKREVIIS NS ICEND EV—ILMUENMEDE  BERARPRENORERREED X T,

24, HERE(C & o TIFMEREREDB LW E (SUS3 1 6/t) ZERA L TH D X TH. it SEUD RS IREMDH D T,
i BORBEAZ BT TIIZE L,

A\ #F. SREEOES

1. HEBORT RS A FEEEZER U COREENDTO)CE o e T EZHER L THh BT TLIEE L.
T REDREDEEICIERERD ICTHBRULTLIZE L,

2. MO [T LTV (VL TEH) OB DR BELIEVE BEECIDBFOREHEERICEDIENGDET,
KIGZET DERRENGODRTDTERLTLIEE L,

3. FBEEm DD ERPUNEIF LBV T L EE VI BEDIREEIFHRIF L IED X T,



& Common notes of printed products

& Cautions for use

1.Please use the products within the limit of specifications indicated in this catalogue.
(temperature range for use, working pressure, fluid used, etc.)
2.As for some types of model, connectable tube is restricted to the plastic one, metallic tube cannot be used.
Please comply strictly with the range of use conditions indicated in each catalogues of the plastic tube.
3.As for some types of model, using insert ring together is required when using the plastic tube.
4.Please consult us about use in the environment where ozone is generated.
5.Please avoid use in the environment of high temperature and humidity, and under direct sunshine.
6.Please avoid the installation to the device which excessive vibration or shock are applied.
It may become the cause of the damage or transformation of fitting, or the loosing of the screw.
7.Please avoid use with/in the fluid or environment that damages the material of the fitting.
8.In using inflammable and/or toxic gas/liquid, please consider and confirm enough the environmental and human safety in the case of
emergency scattering or accidental spillage before use.
9.Before plumbing please stop pressure and make sure there is no residual pressure.
10.Please be sure to remove dregs, such as seal material, when connecting or disconnecting the fitting.
11.When tightening the nut, please use the spanner suitable for the diameter of the nut hexagon.

12.When changing the attachment angle of the fitting, please be sure to change the direction after loosening the nut of the fitting. (AW, BW)

13.If the tightening work is difficult in the high or narrow piping space, do temporary tightening work, and be sure not to become the shortage

of tightening. (AW, BW)

14.Please tighten the screw with proper tightening torque.

15.When tightening the screw, please do not apply pressure.

16.When connecting tubes, please keep enough length of margin. Please plumb tubes with taking care not to fall below the minimum
bending radius.

17.Please cut the tube perpendicularly with the exclusive tube cutter.

18.Please insert the tube to the end of the main body of fitting surely. Insufficient insertion becomes cause of leaking or coming out.

19.Please be sure to confirm the outside diameter size and the manufacturing tolerance of the tube when using tubes other than our
company’s products.

20.When supplying the air after plumbing please be sure not to apply high pressure suddenly.

21.When supplying the air after plumbing please confirm there is no leakage at the connected part.

22.For storage avoid the place of high temperature or high humidity and the direct sun light, and keep at a place of 40°C or less.

23.Please be sure to store the main body in the state that the nut was set to. Separately storing may damage a seal position and cause the
bad connection and the leakage.

24.Though some types of model are utilizing materials having high corrosion resistance performance (SUS316 etc.),
rust may be caught from others.

Please avoid product mixing of other materials.

& Cautions for maintenance check

1.Before the maintenance check of the product, please intercept the circuit and confirm that the fluid pressure becomes “0”.

In addition, please take care about liquid accumulating if the fluid used is liquid.
2.When the operation switch frequency of the installed equipment(valve etc.)is short,

the surface of the fitting might become a high temperature by the shock pressure. Please pay attention to the danger of the burn.
3.Please do not carry out decomposition or reconstruction of composition parts of the fitting.

The function of such a product cannot be guaranteed.

91



	aoi_products_catalog_page112_Zジョイント仕様1
	aoi_products_catalog_page113_Zジョイント仕様2
	aoi_products_catalog_page114_Zジョイント寸法1
	aoi_products_catalog_page115_Zジョイント寸法2
	aoi_products_catalog_page116_Zジョイント寸法3
	aoi_products_catalog_page117_Zジョイント寸法4
	aoi_products_catalog_page118_Zジョイント寸法5
	aoi_products_catalog_page119_Zジョイント寸法6
	aoi_products_catalog_page120_Zジョイント寸法7
	aoi_products_catalog_page121_Zジョイント寸法8
	aoi_products_catalog_page122_Zジョイント寸法9
	aoi_products_catalog_page123_Zジョイント寸法10
	aoi_products_catalog_page124_Zジョイント寸法11_outline
	aoi_products_catalog_page125_Zジョイント寸法12
	aoi_products_catalog_page126_Zジョイント寸法13_outline
	aoi_products_catalog_page127_Zジョイント寸法14_outline
	aoi_products_catalog_page128_Zジョイント寸法15
	aoi_products_catalog_page129_Zジョイント寸法16_outline
	aoi_products_catalog_page130_Zジョイント寸法17

